International Journal of Mathematical Archive-8(11), 2017, 116-121 MAAvailable online through www.ijma.info ISSN 2229 - 5046

L¹-CONVERGENCE OF DERIVATIVE OF FOURIER SERIES USING MODIFIED SUMS

KARANVIR SINGH*1, KANAK MODI²

¹Department of Applied Mathematics GZS Campus College of Engineering and Technology Maharaja Ranjit Singh Punjab Technical University Bathinda, Punjab, India.

²Department of Mathematics, Amity University of Rajasthan, Jaipur, India.

(Received On: 24-09-17; Revised & Accepted On: 25-10-17)

ABSTRACT

In this paper we discuss the L^1 -convergence of the r-th derivative of Fourier series using modified trigonometric sums introduced by Rees and Stanojevic [15] and by Kumari and Ram [12]. It is shown that results concerning L^1 convergence of r-th derivative of trigonometric series can be better established using modified trigonometric sums as compared to classical partial sums. Previously obtained results in this direction by Bhatia and Ram [3] and Kaur and Bhatia [9] have been generalised.

2010 Mathematics subject classification: 42A20, 42A32.

Keywords and phrases: L^1 -convergence, quasi-convex, modified cosine sums, Dirichlet's kernel, Fezer kernel.

1. INTRODUCTION

Consider the cosine series. $\frac{a_0}{2} + \sum_{k=1}^{\infty} a_k coskx$

and let its partial sum be denoted by $S_n(x)$ and also $f(x) = \lim_{n \to \infty} S_n(x)$

It is well known that the Fourier series of a function f may not converge to f in L¹-metric ([1], Vol. II, Ch. VIII ξ 22). Many authors introduced different classes of coefficients to study the integrability and L¹-convergence of trigonometric series. The work was initiated by Young [24] in 1913 and Kolmogorov [11] in 1923 by taking the classes of convex sequences and quasiconvex sequences respectively. Sidon [20] introduced a condition which is weaker than quasi convex and is described by Telyakovskii [21] as

Definition [20, 21]: A sequence $\{a_k\}$ is said to belong to class S if $a_k = o(1)$, $k \rightarrow \infty$ and there exists a sequence $\{A_k\}$ such that (a) $A_k \downarrow 0$, $k \rightarrow \infty$ (b) $\sum_{k=0}^{\infty} A_k < \infty$ (c) $|\Delta a_k| \le A_k$ for all k These authors proved the following necessary and sufficient condition for L¹-convergence of Fourier series; $||f - S_n|| = o(1), n \rightarrow \infty$, iff $a_n \log n = o(1), n \rightarrow \infty$ (*)

Regarding the integrability and L¹-convergence of trigonometric series, some other classes of coefficients with modifications and generalisations of above mentioned classes have been introduced by authors like Fomin [4], Moricz [13], Tomovski [23] and Tikhonov [22]. All these authors confirmed that (*) is necessary and sufficient condition for L¹-convergence of Fourier series.

In order to find better results, many authors like Rees and Stanojevic [15], Kumari and Ram [12], K. Kaur, Bhatia and Ram [7], J. Kaur [10] and Krasniqi [8] introduced modified cosine sums and modified sine sums and proved that these modified sums approximate their limits better than classical partial sums. But out of all the modified sums introduced so far, the sums introduced by Rees and C.V. Stanojevic [15], Kumari and Ram [12] have been widely studied along with their complex forms.

Corresponding Author: Karanvir Singh^{*1,} ¹Department of Applied Mathematics, GZS Campus College of Engineering and Technology, Maharaja Ranjit Singh Punjab Technical University Bathinda, Punjab, India. International Journal of Mathematical Archive- 8(11), Nov. – 2017 (1.1)

Karanvir Singh^{*1}, Kanak Modi² / L¹-Convergence of Derivative of Fourier Series Using,,,,,, / IJMA- 8(11), Nov.-2017.

In this paper we will consider only modified cosine sums as results on modified sine sums can be interpreted on similar lines.

Rees and Stanojevic [15] introduced following modified cosine sums

 $g_n(x) = \frac{1}{2} \sum_{k=0}^n \Delta a_k + \sum_{k=1}^n \sum_{j=k}^n (\Delta a_j) \cos kx$ and it is also studied by many other authors like Garett and Stanojevic [5, 6], Ram [14] and Singh and Sharma [16, 17].

Garett and Stanojevic by considering the class of bounded variation and class C [5] proved the following result;

Theorem A: [5] If $\{a_k\}$ belongs to class C and is of bounded variation, then $||f - g_n|| = o(1)$, $n \rightarrow \infty$

Ram proved the following theorem by considering the class S.

Theorem B: [14] If $\{a_k\}$ belongs to class S, then $||f - g_n|| = o(1)$, $n \rightarrow \infty$

Kaur and Bhatia proved the following result considering r-th derivative of (1.1)

Theorem C: [9] If $\{a_k\}$ belongs to class S_r , then $||f^r - g_n^r|| = o(1), n \rightarrow \infty$,

From above results, it is clear that authors proved the results without considering the condition $a_n \log n = o(1)$; $n \rightarrow \infty$. Thus this is the improvement as compared to classical partial sums where the condition $a_n \log n = o(1)$; $n \rightarrow \infty$ is necessary and sufficient for the L¹-convergence of Fourier series

Kumari and Ram [12] introduced modified cosine sums as

 $h_n(x) = \frac{a_0}{2} + \sum_{k=1}^n \sum_{j=k}^n \Delta\left(\frac{a_j}{j}\right) k \cos kx$

and proved the following theorem

Theorem D: [12] If {a_k} belongs to class S, then $||f - h_n|| = o(1), n \rightarrow \infty$ if and only if $a_n \log n = o(1), n \rightarrow \infty$

Bor by considering the class $S(\delta)$ [see [2]] proved the following result.

Theorem E: [2] If $\{a_k\}$ belongs to class $S(\delta)$, then

 $||f - h_n|| = o(1), n \rightarrow \infty$ if and only if $a_n \log n = o(1), n \rightarrow \infty$

The result of Theorem E is an improvement over result of Theorem D where as the result of Theorem E has been further modified by authors Singh and Kaur [18] in which the condition $a_n \log n = o(1)$; $n \rightarrow \infty$; has been removed while proving the result.

Bhatia and Ram [3] proved the following result considering r-th derivative of (1.1);

Theorem F: [3] If $\{a_k\}$ belongs to class R_r , then $||f^r - h_n^r|| = o(1), n \rightarrow \infty$,

In this paper we will prove some results regarding L^1 -convergence of r-th derivative of (1.1) using modified sums $g_n(x)$ and deduce the results for $h_n(x)$. We have attempted to consider both the sums $g_n(x)$ and $h_n(x)$ simultaneously while proving our results. Thus our results will generalise the results proved earlier by various authors like Bhatia and Ram [3] and Kaur and Bhatia [9] in a certain way though these authors have taken different classes of coefficients while proving the results.

Definition: A sequence
$$\{a_k\}$$
 is said to be generalised quasi-convex if

$$\sum_{k=1}^{\infty} k^{r+1} |\Delta^2 a_k| < \infty; r = 0,1,2,3...$$
(1.2)

Clearly for r=0, (1.2) reduces to class of quasi-convex.

The first result of this paper is the following theorem:

Theorem 1.1: If a null sequence $\{a_k\}$ is generalised quasi-convex, then

(i) $||f^{r}(x) - g_{n}^{r}(x)|| = o(1), n \rightarrow \infty$ (ii) $||f^r(x) - g_n^r(x)|| = o(1), (n \rightarrow \infty)$ implies $||f^r(x) - h_n^r(x)|| = o(1)$ as $a_n n^r \rightarrow 0, n \rightarrow \infty$ (iii) $||f^r(x) - S_n^r(x)|| = o(1), n \rightarrow \infty$, iff $a_{n+1} n^r \log n = o(1), n \rightarrow \infty$

Sheng [19] generalised the notion of class S in the following way:

Definition [19]: A sequence $\{a_k\}$ is said to belong to class $S_{p\alpha}$ if $a_k = o(1)$, $k \rightarrow \infty$ and there exists a sequence $\{A_k\}$ such that

- (a) $A_k \downarrow 0, k \rightarrow \infty$ (b) $\sum_{k=1}^{\infty} h^{\alpha} A_{\alpha} < \infty$ for some
- (b) $\sum_{k=0}^{\infty} k^{\alpha} A_k < \infty$, for some $\alpha \ge 0$
- (c) $\frac{1}{n}\sum_{k=1}^{n} \frac{|\Delta a_k|}{A_k^p} = O(1), 1$

The second result of this paper is the following theorem:

Theorem 1.2: Let the sequence $\{a_k\}$ belongs to the class $S_{p\alpha}$, $\alpha \ge 0$, $r \in \{0,1,2,...[\alpha]\}$ and $|a_{n+1}|n^r \log n = o(1)$, $n \rightarrow \infty$. Then

$$||\mathbf{f}^{\mathbf{r}}(\mathbf{x}) - g_n^r(\mathbf{x})|| = o(n^{r-\alpha}), n \rightarrow \infty \text{ and } ||\mathbf{f}^{\mathbf{r}}(\mathbf{x}) - h_n^r(\mathbf{x})|| = o(1) \text{ as } a_n n^r \rightarrow 0, n \rightarrow \infty$$

2. LEMMAS

We require the following lemmas for the proof of our results.

2.1. Lemma [19]:

If $D_n(x)$ and $\tilde{D}_n(x)$ are Dirichlet and conjugate Dirichlet kernels respectively and are defined by

$$D_n(x) = \frac{\sin(n+\frac{1}{2})x}{2\sin\frac{x}{2}}, \widetilde{D}_n(x) = \frac{\cos\frac{x}{2} - \cos(n+\frac{1}{2})x}{2\sin\frac{x}{2}}$$

Then

- (a) $||D_n^r(x)|| = \frac{4}{\pi} (n^r \log n) + O(n^r)$, r = 0, 1, 2, 3..., where $D_n^r(x)$ represent r-th derivative of the Dirichlet kernel. (b) $||\widetilde{D}_n^r(x)|| = O(n^r \log n)$, r = 0, 1, 2, 3...

2.2. Lemma

If $K_n(x)$ denotes Fezer kernel defined by

 $K_n(x) = \frac{1}{n+1} \sum_{j=0}^n D_j(x)$, then $||K_n(x)|| = o(1)$ and by Zygmund Theorem [[1]; Vol: II; p:458]; we have $||K_n^r(x)|| = O(n^r)$, r = 0, 1, 2, 3...

Also we have well known results

(i) $\widetilde{D}'_n(x) = (n+1)D_n(x) - (n+1)K_n(x)$ (ii) $\widetilde{D}_n^{r+1}(x) = (n+1)D_n^r(x) - (n+1)K_n^r(x)$

3. PROOF OF THEOREMS

Proof of Theorem 1.1:

We have

 $g_n(x) = \frac{1}{2} \sum_{k=0}^n \Delta a_k + \sum_{k=1}^n \sum_{j=k}^n \Delta a_j \cos kx$ = S_n(x) - a_{n+1}D_n(x)

Then

$$g_n^r(x) = S_n^r(x) - a_{n+1}D_n^r(x)$$

Clearly $\lim_{n\to\infty} g_n^r(x) = \lim_{n\to\infty} S_n^r(x) = f(x)$ for $x \in (0, \pi]$.

Therefore

$$f'(x) - g_n^r(x) = \sum_{k=n+1}^{\infty} k^r a_k \cos\left(kx + \frac{r\pi}{2}\right) + a_{n+1} D_n^r(x) = \lim_{m \to \infty} \left[\sum_{k=n+1}^m a_k k^r \cos\left(kx + \frac{k\pi}{2}\right) + \right] + a_{n+1} D_n^r(x)$$

Applying Abel's Transformation twice, we have

$$\begin{aligned} \mathbf{f}^{r}(\mathbf{x}) - g_{n}^{r}(\mathbf{x}) &= \lim_{m \to \infty} [\sum_{k=n+1}^{m-1} \Delta a_{k} D_{k}^{r}(\mathbf{x}) + a_{m} D_{m}^{r}(\mathbf{x}) - a_{n+1} D_{n}^{r}(\mathbf{x})] + a_{n+1} D_{n}^{r}(\mathbf{x}) \\ &= \lim_{m \to \infty} [\sum_{k=n+1}^{m-1} \Delta a_{k} D_{k}^{r}(\mathbf{x}) + a_{m} D_{m}^{r}(\mathbf{x})] \\ &= \lim_{m \to \infty} [\sum_{k=n+1}^{m-2} (k+1) \Delta^{2} a_{k} K_{k}^{r}(\mathbf{x}) + m \Delta a_{m-1} K_{m-1}^{r}(\mathbf{x}) - (n+1) \Delta a_{n+1} K_{n}^{r}(\mathbf{x}) + a_{m} D_{m}^{r}(\mathbf{x})] \\ &= \sum_{k=n+1}^{\infty} (k+1) \Delta^{2} a_{k} K_{k}^{r}(\mathbf{x}) - (n+1) \Delta a_{n+1} K_{n}^{r}(\mathbf{x}) \end{aligned}$$

© 2017, IJMA. All Rights Reserved

Thus

$$\|\mathbf{f}^{r}(\mathbf{x}) - g_{n}^{r}(\mathbf{x})\| \leq \sum_{k=n+1}^{\infty} (k+1) |\Delta^{2}a_{k}| \int_{0}^{\pi} |K_{k}^{r}(\mathbf{x})| d\mathbf{x} - (n+1) |\Delta a_{n+1}| \int_{0}^{\pi} |K_{k}^{r}(\mathbf{x})| d\mathbf{x}$$

Now since

$$\begin{aligned} |\Delta a_{n+1}| &= |\sum_{k=n+1}^{\infty} \Delta^2 a_k| \le \sum_{k=n+1}^{\infty} \frac{(k+1)}{(k+1)} |\Delta^2 a_k| \\ &\le \frac{1}{n+1} \sum_{k=n+1}^{\infty} (k+1) |\Delta^2 a_k| \end{aligned}$$

And by Lemma 2.2, we have from (3.1) $\|\mathbf{f}^{\mathbf{r}}(\mathbf{x}) - g_n^{\mathbf{r}}(\mathbf{x})\| = O(\sum_{k=1}^{\infty} k^{r+1} |\Delta^2 a_k|)$

Thus by hypothesis, we get $\|f^{r}(x) - g_{n}^{r}(x)\| = o(1), n \to \infty$

For **Part (ii)** we have $g_n^r(x) = S_n^r(x) - a_{n+1}D_n^r(x)$

And also

$$h_n^r(x) = S_n^r(x) - \frac{a_{n+1}}{n+1} \widetilde{D}_n^{r+1}(x)$$

Clearly by using Lemma 2.2

 $g_n^r(x) - h_n^r(x) = -a_{n+1}K_n^r(x)$ which implies $||g_n^r(x) - h_n^r(x)|| = |a_{n+1}||K_n^r(x)||$

Thus

$$\begin{split} \|\mathbf{f}^{r} - h_{n}^{r}\| &= \|\mathbf{f}^{r} - g_{n}^{r} + g_{n}^{r} - h_{n}^{r}\| \\ &\leq \|\mathbf{f}^{r} - g_{n}^{r}\| + \|g_{n}^{r} - h_{n}^{r}\| \\ &= \mathbf{o}(1) + \|a_{n+1}K_{n}^{r}\| \\ &= \mathbf{o}(1) \text{ as } \mathbf{a}_{n}\mathbf{n}^{r} \not \to \mathbf{0}, \mathbf{n} \not \to \infty \end{split}$$

For the proof of (iii) part, we have

 $\begin{aligned} ||S_n^r(x) - \bar{f^r}(x)|| &= ||S_n^r(x) - g_n^r(x) + g_n^r(x) - f^r(x)|| \\ &\leq ||S_n^r(x) - g_n^r(x)|| + ||g_n^r(x) - f^r(x)|| \\ &\leq ||a_{n+1}D^r(x)|| + ||g_n^r(x) - f^r(x)|| \end{aligned}$

Conversely, we have

$$\begin{aligned} \|a_{n+1}D^{r}(x)\| &= \|S_{n}^{r}(x) - g_{n}^{r}(x)\| \\ &\leq \|S_{n}^{r}(x) - f^{r}(x)\| + \|f^{r}(x) - g_{n}^{r}(x)\|. \end{aligned}$$

Thus the result follows by Lemma 2.1 and (i) part of the theorem

Remark: The result of (ii) and (iii) part of above Theorem will hold true if we prove the result of (i) part by taking any other class of coefficients.

Proof of Theorem 1.2:

As in Theorem 1.1, we have

$$g_n^r(x) = S_n^r(x) - a_{n+1}D^r(x)$$

and

$$\mathbf{f}^{\mathbf{r}}(\mathbf{x}) - g_n^r(\mathbf{x}) = \sum_{k=n+1}^{\infty} k^r a_k \cos\left(kx + \frac{r\pi}{2}\right) + a_{n+1} D_n^r(\mathbf{x})$$

By making use of Abel's Transformation, we have

$$\begin{split} \|f^{r}(\mathbf{x}) - g_{n}^{r}(\mathbf{x})\| &\leq \int_{0}^{n} |\sum_{k=n+1}^{\infty} \Delta a_{k} D_{k}^{r}(\mathbf{x})| dx + \int_{0}^{n} |a_{n+1} D_{n}^{r}(\mathbf{x})| dx \\ &= \int_{0}^{\pi} \left| \sum_{k=n+1}^{\infty} A_{k} \frac{\Delta a_{k}}{A_{k}} D_{k}^{r}(\mathbf{x}) \right| dx + \int_{0}^{\pi} |a_{n+1} D_{n}^{r}(\mathbf{x})| dx \\ &\leq \int_{0}^{\pi} \left| \sum_{k=n}^{\infty} \Delta A_{k} \sum_{j=1}^{k} \frac{\Delta a_{j}}{A_{j}} D_{j}^{r}(\mathbf{x}) \right| dx + A_{n} \int_{0}^{\pi} \left| \sum_{j=1}^{k} \frac{\Delta a_{j}}{A_{j}} D_{j}^{r}(\mathbf{x}) \right| dx + \int_{0}^{\pi} |a_{n+1} D_{n}^{r}(\mathbf{x})| dx \\ &\leq \sum_{k=n}^{\infty} |\Delta A_{k}| \int_{0}^{\pi} \left| \sum_{j=1}^{k} \frac{\Delta a_{j}}{A_{j}} D_{j}^{r}(\mathbf{x}) \right| dx + A_{n} \int_{0}^{\pi} \left| \sum_{j=1}^{n} \frac{\Delta a_{j}}{A_{j}} D_{j}^{r}(\mathbf{x}) \right| dx + \int_{0}^{\pi} |a_{n+1} D_{n}^{r}(\mathbf{x})| dx \\ &= I_{1} + I_{2} + I_{3} \end{split}$$

(3.1)

Now

$$I_{1} = \sum_{k=n}^{\infty} |\Delta A_{k}| \int_{0}^{\pi/k} \left| \sum_{j=1}^{k} \frac{\Delta a_{j}}{A_{j}} D_{j}^{r}(x) \right| + \sum_{k=n}^{\infty} |\Delta A_{k}| \int_{\pi/k}^{\pi} \left| \sum_{j=1}^{k} \frac{\Delta a_{j}}{A_{j}} D_{j}^{r}(x) \right| dx$$

= I₁₁ + I₁₂

But as proved in [19], $I_{11} = o(n^{r-\alpha})$ and $I_{12} = o(n^{r-\alpha})$

Similarly $I_2 = o(n^{r-\alpha})$ and $I_3 = \int_0^{\pi} |a_{n+1}D_n^r(x)| dx$ $\leq |a_{n+1}| \int_0^{\pi} |D_n^r(x)| dx$ $= o(1), n \rightarrow \infty$, by hypothesis Hence $||g_n^r(x) - f^r(x)|| = o(n^{r-\alpha}), n \rightarrow \infty$

Now we shall prove that the result $\|f^{r}(x) - a^{r}(x)\| = o(n^{r-\alpha}) (n^{-\alpha})$

 $\|\mathbf{f}^{\mathbf{r}}(\mathbf{x}) - g_n^{\mathbf{r}}(\mathbf{x})\| = \mathbf{o}(\mathbf{n}^{\mathbf{r}-\alpha}), \ (\mathbf{n} \to \infty)$ $\Rightarrow \|\mathbf{f}^{\mathbf{r}} - h_n^{\mathbf{r}}\| = \mathbf{o}(1) \text{ as } \mathbf{a}_n \mathbf{n}^{\mathbf{r}} \to 0, \mathbf{n} \to \infty$

As discussed in Theorem 1 (part(ii)), we have $g_n^r(x) - h_n^r(x) = -a_{n+1}K_n^r(x)$ which implies $\|g_n^r(x) - h_n^r(x)\| = |a_{n+1}| \|K_n^r(x)\|$

and $\|\mathbf{f}^{r} - h_{n}^{r}\| = \|\mathbf{f}^{r} - g_{n}^{r} + g_{n}^{r} - h_{n}^{r}\|$ $\leq \|\mathbf{f}^{r} - g_{n}^{r}\| + \|g_{n}^{r} - h_{n}^{r}\|$ $= o(\mathbf{n}^{r-\alpha}) + \|a_{n+1}K_{n}^{r}\|$ $= o(\mathbf{a}_{n+1} \mathbf{n}^{r})$

$$= o(1) \text{ as } a_n n^r \rightarrow 0, n \rightarrow \infty$$

Which prove the results

REFERENCES

- 1. Bary N.K., A treatise on trigonometric series, Vol.II, Pergamon Press, London 1964.
- 2. Bor H., On L¹-convergence of a modified cosine sum, Proc. Indian Acad. Sci. (Math. Sci.), Vol. 102, No. 3, Dec (1992), 235-238.
- 3. Bhatia S.S. and Ram B., On L¹-convergence of certain modified trigonometric sums, Indian J. Math, (1993), 171-176.
- 4. Fomin G.A., A class of trigonometric series, Math. Zametki, 23 (1978), 213-222.
- 5. Garrett J.W. and Stanojevic C.V., Necessary and sufficient condition for L¹-convergence of trigonometric series, Proc. Amer. Math. Soc. 60 (1976), 68-71.
- 6. Garrett J.W. and Stanojevic C.V., On L¹-convergence of certain cosine sums, Proc. Amer. Math. Soc. 54 (1976), 101-105.
- Kaur K., Bhatia S. S. and Ram B., On L¹-Convergence of certain Trigonometric Sums, Georgian journal of Mathematics, 1(11) (2004), 98-104.
- 8. Krasniqi X.Z., On L¹-convergence of sine and cosine modified sums, Journal of Numerical Mathematics and Stochastics, 7(1) (2015), 94-102.
- 9. Kaur J. and Bhatia S. S., Integrability and L¹-convergence of certain cosine sums, Kyungpook Mathematical Journal, 47 (2007), 323-328.
- 10. Kaur J. and Bhatia S. S., Convergence of new modified trigonometric sums in the metric space L, The Journal of Non Linear Sciences and Applications, 1(3) (2008), 179-188.
- 11. Kolmogorov A.N., Sur l'ordre de grandeur des coefficients de la serie de Fourier-Lebesque, Bull. Acad. Polon. Sci. Ser. Sci. Math. Astronom. Phys. (1923), 83-86.
- 12. Kumari S. and Ram B., L¹-convergence of a modified cosine sum, Indian Journal of Pure and Applied Math., 19 (1988), 1101-1104.
- 13. Moricz F., On the integrability and L¹-convergence of sine series, Studia Mathematica T., XCII (1989), 187-200.
- 14. Ram B., Convergence of certain cosine sums in the metric space L, Proc. Amer. Math. Soc., 66 (2) (1977), 258-260.
- 15. Rees C.S. and Stanojevic Č.V., Necessary and Sufficient condition for the integrability of certain cosine sums, J. Math. Anal. Appl., 43 (1973), 579-586.
- 16. Singh N. and Sharma K.M., L¹-convergence of modified cosine sums with generalised quasi-convex coefficients, J. Math. Anal. App., 136 (1988), 189-200.
- 17. Singh N. and Sharma K.M., Convergence of certain sums in the metric space L¹, Proc. American Math. Soc., 72 (1978), 117-120.

Karanvir Singh^{*1}, Kanak Modi² / L¹-Convergence of Derivative of Fourier Series Using,,,,,, / IJMA- 8(11), Nov.-2017.

- Singh K. and Kaur K., On the L1-convergence of modified cosine sums, Georgian Mathematical Journal, Vol.15(1)(2008), 71-75
- 19. Sheng S., The extension of theorems of Č.V. Stanojevic and V.B Stanojevic, Proc. Amer. Math. Soc. 110 (1990), 895-904.
- 20. Sidon S., Hinreichende Bedingungen fur den Fourier-Charakter einer Trigonometrischen Reihe, J. London Math. Soc. 14 (1939), 158-160.
- 21. Telyakovskii S.A., On a su cient condition of Sidon for the integrability of trigonometric series, Math. Zametki 14 (1973), 317-328.
- 22. Tikhonov S., On L₁-convergence of Fourier series, J. Math. Anal. App., 347 (2008), 416-427.
- 23. Tomovski Z., An extension of the Garret-Stanojevic class, Approx. Theory and Appl., 16 (1) (2000), 46-51.
- 24. Young W.H., On the Fourier series of bounded functions, Proc. London Math. Soc. 12 (2) (1913), 41-70.
- 25. Zygmund A., Trigonometric series, Vols. I and II, Univ. Press of Cam-bridge (1959).

Source of support: Nil, Conflict of interest: None Declared.

[Copy right © 2017. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]